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Question Number : 1 Question Id : 1889601201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

As per the newspaper reports Government of India has finally agreed to
purchase advanced MRMRs for its naval forces. What are these MRMRs?

O35 ADOEE (DSB0 2308565 2065 S0 270565 TS AT 8DV

MRMR @ §0fen DA e9ofE00D06). & MRMR €0 oabés?
1. Aircrafts
ISV
2. Warships
SV AISEISY
3. Submarines
DR OTLIONNWIDY)
4. Radar Systems
O30 VRN
Options:
1.v1
o ® 2
3 % 3
4 % 4

Question Number : 2 Question Id : 1889601202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The percentage of irrigated land in India is about
2rBSTIOS NES Z5raD F°EH0 e
1,45
2. 65
3.35
4. 25
Options:
1. %1
2 %z

2. ¥ 3
4 % 4



Question Number : 3 Question Id : 1889601203 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Raman effect involves

&3 80O a7°e36S 07D (927650 E0ENOO

1. scattering of light
SP0ed HDOT NO

2. diffraction of light
5P0e3 ABWE) IO

3. interference of light

5P0ed A3NE), S 850
4. all the above
SN

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 4 Question Id : 1889601204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The idea of ‘Single Citizenship’ in our Constitution is taken from which
country?
5085 T30S ROAS PGB 20" 9 e85 IS &) B0
BNEDAR0EH?
1. Britain
2
2. Germany
2305200
3. Japan
300"
4, United States
OO TIE RE)
Options:
1.v¥1
2 ® 2
3 %3
4 % 4



Question Number : 5 Question Id : 1889601205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The First Constitutional Amendment was made in the year
053 T30 HIBED o) D03 NS0’ 230A0E?

1.1950

2.1951

3.1952

4.1955

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 6 Question Id : 1889601206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which country awards the Nobel Prize?
SBO 25VNE DB E0 o) BFVE TOOIE?

1. Ireland
0006

2. Sweden
Q8BS

3. England
QOO

4. America
@0 0O3P

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 7 Question Id : 1889601207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which metal is commonly used for making an electromagnet?
DS ST EN) BASTE DONTE &) '), GDTPANS?

1. Copper
o
2. Cobalt
3. lron
Q20D
4. Nickel
DTO
Options:
1. %1
o ® 2
3.¢ 3
4 % 4

Question Number : 8 Question Id : 1889601208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following was not one of the ruling dynasties of South India
in the Sangam Age?
DONO 450 & 58 £ 2 BSTIO TBE), e 02207 (806 a7¢3eS DO
SPen?
1. Chola
2. Chera
e
3. Pandya
oPOCHS
4. Pallava
e
Options:
1. %1
2 ® 2
3 %3
4 ¥ 4

Question Number : 9 Question Id : 1889601209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who was the founder of the Sena dynasty?
RV 0723608 "BV oI?
1. Ballal Sena
267°) R
2. Hemanta Sen
%005 VR
3. Lakshman Sen
826D VX
4. Vijay Sen
2300 VR

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 10 Question Id : 1889601210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who was the first foreigner, who invaded India?
23° 5550 A T T NELBNCEIE3 DTFTINCRD )6I5?
1. Derious
BOADHD
2. Sikandar
V800

3. Selyucus
QENEEQ
4. Philip
DD
Options:
1.¥1
2 %
3 %3
4 % 4

Question Number : 11 Question Id : 1889601211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



The ratio of the width of our National flag to its length is

3065 2305 DO BN, BN ) SFCHe)e BN DN

1. 45
2..2:3

3.2:4
4.3:4

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 12 Question Id : 1889601212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is not a mosquito borne disease?
BOO ¢3S DO 60 508 EODT o786 5°¢0?

1. Dengue fever

GBOME 23 LG
2. Malaria
NS OOIT
3. Sleeping sickness
QC DQEIFIC0
4. Filariasis
SeSseen
Options:
1. %1
2 ¥ 2
3.¢¥3
4 % 4

Question Number : 13 Question Id : 1889601213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The Indian Institute of Science is situated at
“QOBONS A EITLE 63D VR &8 (r0H0S” OO
1. Bombay
23°023
2. Bangalore
20O
3. Ahmedabad

DPOHIRTAN R
4. Hyderabad
Fualsacans
Options:
1. %1
2 ¥z
3 %3
4 % 4

Question Number : 14 Question Id : 1889601214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which Indian state has the largest number of cotton textile mills?

2300365 70 @9¢5eHHE DOPES &N EVEN &) CH GrT) ON?
1. MadhyaPradesh

VTR IaL]
2. Maharashtra
N VA O P
3. Gujarat
N230°ed
4. West Bengal
D)o OO
Options:
1. %1
2.2
3. ¥ 3
4. # 4

Question Number : 15 Question Id : 1889601215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who was the first President of the U.S.A.?
AT TIE QRE ) 8D IO ABNEY EIEI €980 DsI?
1. GeorgeWashington
2320 3°0H
2. Robert Walpole
o 5°SHO
3. Henry Waterloo

Q) e
4. George Bush
220 20
Options:
1.v1
2 ® 3
3 %3
4 % 4

Question Number : 16 Question Id : 1889601216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The National Game of India is
23565 23°e30% (8¢ DE?
1. Cricket
153
2. Foot ball
DE 2O
3. Tennis
[ARMN
4. Hockey
558
Options:
1. %1
o ® D

3 %3
4. 9 4

Question Number : 17 Question Id : 1889601217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Who said ‘Man is a political animal’?
DA 2.8 T°3EOH B0 Q) DI T KD?

1. Socrates

SPLEEID

2. Plato
Y
3. Dante
@TOT)
4. Aristotle
@O ¢3O
Options:
1. %1
o & o
3 ® 3
4. 9 4

Question Number : 18 Question Id : 1889601218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In which of the following cities Elephant festival is celebrated annually?

E0 & SHTOES DO DO (DO DOE DVSD) (HBEF
20)S0EFH?
1. Jaipur
Zoy°0
2. Jodhpur
S0 16
3. Kota
gy
4. Ajmer
@220
Options:
1.91
o %2
3 % 3
4 % 4

Question Number : 19 Question Id : 1889601219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Father’s age is five times his son’s age. Four years back father was 9

times older than his son. Find their present ages.

0|3 IO ) 5 TR SO FOTY 0N BDEY DFVY.03- e
005653107 (8650 ¢50((b €55 §CHZL FOTY a1 2E BED DRI 3°0 (D ¢H
DONN YO EFS0%.
1. 30yrs,byrs
30 Q0HE5 YT, 6 D0HES YT e
2.25 yrs, 5yrs

25 D05 )TN, 5 D0eIed YT D

3. 40 yrs,8yrs
40 D0se5 O e, 8 HOHEd YT e
4. 45 yrs,7yrs
45 D 0s€5 YOrew, 7 D0HEd YT
Options:
1. %1
2 ® 2
3. ¥ 3
4 % 4

Question Number : 20 Question Id : 1889601220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If in a certain code "RANGE" is coded as 12345 and "RANDOM" is coded as
123678, then the code for the word "MANGO" would be
2,8 QON §E "RANGE" 12345 T §6 5020, "RANDOM" 123678 ™ 56
DANDR0H. €9 "MANGO" @95 D0 §7O0 o) §& roen0&?
1. 82357
2. 84563
3. 82346
4,82543

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 21 Question Id : 1889601221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



2,3,5,7,11, __ (series of prime numbers)
2,3,57,11, .. (DD DODED IS &S 533065 HOWE)
1.15
2.9
313
4,12

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 22 Question Id : 1889601222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ezt be 2 &30 z = 26 what is the value of p+qg+r?
a=1b=26=8.. ... 2=26 QOONB P +q+rDeNd de3?
1.33
2.51
3.52
4.48

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 23 Question Id : 1889601223 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The sum of three consecutive numbers is 132. Find the square of the

largest number.
ST T°CH HOPES DO [NEO 132. DGR HOPABNEY ST EDHTS0E.
1.2026
2. 640
3.900
4.2025

Options:
1. %1



o ® oo
3 %3
4 ¥ 4

Question Number : 24 Question Id : 1889601224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A is 8 miles east of B.C is 10 miles north ofB.

D is 13 miles east of C and E is 2 miles north of D. Find

the shortest distance between A and E.

A B 8 Ar)d 8 ¥ (B0 & &) 6. C,B § 10 ¥ Srdo &
GSTS &)O. D, C & 7)) 13 DY) C°E0 &S &5).0 $0OA5M E,D &
SIS 2 DY) S0 GO, @WONB A HOCIN E 0L ) €oed
SE0) e 07 MO0,

1.5 miles
5 DS0Y
2.6 miles
6 DY
3.13 miles
13 VY
4.18 miles
18 DF0Y
Options:
1. %1
o %o
3. v 3
4 % 4

Question Number : 25 Question Id : 1889601225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is twenty percent of 25 % of 20.

20 S 25 F°50 S ASS F°HO WOT) DOEH?
1.2
742 |
3.0
4.4

Options:
1. %1



o o
3 %3
4 % 4

Question Number : 26 Question Id : 1889601226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How is my mother's sister's brother's wife's child related to me?

O° ¢56) AFCHO PN 2385 T3NEY DS D750 €59 Z50CNES 0 Dade3?

1. brother
ECINDCD
2. uncle
6% )
3. cousin
ACIANVEN)
4. Nephew
AN OV
Options:
1. %1
2 ¥ 2
3. ¥ 3
4 % 4

Question Number : 27 Question Id : 1889601227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Prime Meridian is near

196553 DA & SHTRE SHEES 6)0enod

1. Paris

O

2. London
SIS

3. Newyork
QP O30

4. Canada

TOE°



Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 28 Question Id : 1889601228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The amount of water vapour in the air is called
TOES QeI 3D HOATET) WET ©OEFH
1. Humidity
s Oeh
2. Density
O[5
3. Moisture
S6
4. Rain
Nelo
Options:
1.v1
2 ® 3
3 %3
4 # 4

Question Number : 29 Question Id : 1889601229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Global warming occurs due to increase in
RO DEBHE0 S0 N2 30200 HOZSDNOE
1. Chlorofluorocarbons
$T '8 526
2. Carbondioxide
STD HEN PO
3. Nitrogen
S(ES2S

4. Helium
)OO

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 30 Question Id : 1889601230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Petroleum is also called:
RO 057, @EF ForeE® DEND:
1. Liquid gold
1633 B0 €55) OGS0
2. Black gold
A 20mrS0

3. black diamond
AD D20

4. white gold
SO 20MHO0

Options:
1. %1
e g
3 %3
4 % 4



Fart B: Current Affairs

Section Id : 18896030
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 30
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 18896030
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 1889601231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
India’s First District cooling system will come up in:
il & ¢ o
255350 ' T TocHed 8 FBSODEBED 359D &) TR0 (V3%
DCDS0H?
1. Nagaland

o rerofH

2. Amaravati
90T €3

3. Shilling
a&oh

4. Bangalore

230MMH$°0

Options:
1. %1
e
3 % 3
4 # 4

Question Number : 32 Question Id : 1889601232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The Chief Justice of India Ranjan Gogoi and Andhra Pradesh Chief
Minister N. Chandrababu Naidu inaugurated the judicial complex
in
270568 | D DPEOITOINE B0 0N OO 80D (NT?
SN D03 N. THO(CH2T°20 FTPOINCR) PN R TPAITR) DE)CS
B0 0.

1. Amaravati

90T ed

2. Tirupathi
3O

3. Anantapur
905D

4. Kadapa
P

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 33 Question Id : 1889601233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which council has decided to set up a seven-member committee to look

into revenue shortfall being faced by the states after the GST roll-out, and
to suggest steps for augmenting collections?

GST @506 5ar°ed T° ol DCNT)L0EN D)), e3P OO §HedD
HOBOOITIE DM H2N £ ENEI DT AT s0OCIN DY ©
DESEIE DO EN0 9550 SO &) TS AFoN0D0E?
1. GST Council
GST 'O
2. council for leather exports

SN DNV §H0 TAND

3. plastics exports promotion council
o’ 8 DDA (DA TR O
4. finance commission

DO Fod

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 34 Question Id : 1889601234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which State has topped the Ease of Doing Business ranking by Asia

Competitiveness Institute?
DACAI® F0NEIES TR AV LTS |DSB0 S5 @9 BAranon BT
0080’ &) U7 R0 OHTI0S &5)E ?
1. TamilNadu
ST CD

2. Telangana
SOOI

3. Andhra Pradesh
Zlellalts vt

4. Kerala
SO

Options:



1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 35 Question Id : 1889601235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Under which project, a dam is constructed across the Godavari River in
West Godavari District and East Godavari District of AndhraPradesh?
D 37ZE 805, E0(ANTF Q) HANeN T30 2263 O 430 YT 30
267°Y 330 AR SOBS B0 BOE?
1. Tehri Damproject
B> @50 (rB]
2. Bakranangal Damproject
BSH0NO 5 (TSR
3. Polavaram Multipurposeproject
PGB0 2TVFIE (7B

4. Hirakud Damproject
POS0B B0 (B

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 36 Question Id : 1889601236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The ‘Mahila Police Volunteer’ was initiated by which ministry

in collaboration with the Ministry of Home Affairs?

TR0 s00(E36h 5T DITFSTBOS o) $HO(E3¢H ¢ F°Y T° LT° ‘ST F FOD
Y030 “ (S SE00IDE0E?

1. Ministry of Women and Child Development
DT FE SOOI DD €92)I)E DO(e365 § TR

2. Ministry of Rural Development
[TPoDET) 5O T

3. ministry of Defence
58 €9 SDO(e3¢5 § T

4. Ministry of Urban Development
@GR T V0E DO\ e3¢5 §7°D

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 37 Question Id : 1889601237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Andhra Pradesh Government has launched Bhuseva and Bhudaar web
portal for:
O[S (DT3B (2065 0 23, Brerd R FPen) DRSBEL
BPE02)0DO5:
1. viewing land records online
BT 570 OSHED D00
2. online land registration
SS BS er08 023 VAS
3. filing online petitions
SIQ DEINPD DO DO
4. filing RTI online
SIS 83000 DO DIOH

Options:
1.v1
o %D
3 %3



4 # 4

Question Number : 38 Question Id : 1889601238 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which policy did the Cabinet approve to achieve a turn over of Rs. 26 lakh
crores for design and manufacturing sector by 20257
5262)TED &) alOR P S0° *OE ecraNO 26 €8 € ERZMTD 2025 &5 D050 ¢
B350 B0KHO0 & ErHEe )8 TAHDAOE?
1. National Electronics Policy2012
TASO DO T°AT ) rerQ),2012
2. National Electronics Policy2013
2300 DO TAE ) aredd 2013
3. National Electronics Policy2018
TASD O[T ) rer2018
4. National Electronics Policy2019
VA DO TT ) *HI2019
Options:
1. %1
2 ® 3
3 %3
4. v 4

Question Number : 39 Question Id : 1889601239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The first set of four vessels made at Cochin Shipyard Limited (CSL) under the
deepsea fishing project was launched in State.
S'BS DM DO HEYEI §H0 FDS 2D 350 AT (CSL) 55
EFrOE0DS (DETDET FEIES 70 2,656 He3I%I°0 o RO’
rB02)00GB06.
1. Kerala
oL~
2. Maharashtra
0307 o)
3. West Bengal
NEANV elad
4. TamilNadu
S P D

Options:
1. %1
o R
3 % 3



4 ¥ 4

SHATALS, 10 U4 L G e M Opon S No Dy Qumtn Mo Yo
Correct Marks: 1 Wrong Marks: O
Supreme Court the National Green Tribunal (NGT) decision to
reopen the Sterlite copper plant at Thoothukudi.
ATENEG S5O VO T°f 07T )2 TS0 0IETRE 233 (AS
€325 (DAE3) B:0ES), AFONO & DD FD .
1. Approved
LINV A TolAOIR)
2. set aside
1083 DE0H
3. upheld
LinlelolAleln
4. overruled

oJAVER T ol

Options:
1. % 1
o WD
3 %3
4 % 4

Question Number : 41 Question Id : 1889601241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The 2019 Cricket World Cup (officially ICC Cricket World Cup 2019) is the
12th edition of the Cricket World Cup. It is scheduled to be hosted by
2019 (83 (D007 §D (29HZOE0M ICC (§TE) (00T § 2019) 12 05 DGBA® 0
o) T3B0 €830H50 QD §5 SO,
1. England and Wales
QOTO& NOAN BO)
2. South Africa
58 (DT
3. Bangladesh
203
4. Australia and New Zealand
3| QO AT sHOO S gegerod
Options:
1.v¥1
2 %z
3 %3



4 # 4

Question Number : 42 Question Id : 1889601242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Indian Qil Corporation (I0C) signed a deal worth with US to
import 3 million tonnes of crude oil.
RORONS SONSD 578 YBA (92,2) SO 3 DEAND €I S0
£330 B0 AN TOFTOCHE WOSTSH £ 2,000
SVAVeVRISMelnt
1. S1 billion
$1DOANHD
2. S1.5 hillion
$ 1.5 DD
3. 52 billion
$22DOANDR
4. S2.5 billion
$2.5 20N

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 43 Question Id : 1889601243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Argentina is the country to sign the Framework Agreement of the
ISA.
@D0E3a”, I1SA TBE) DV 0N 2,000 DOSHE0 TR D569 TFO?
1. 50"
505

D &3"
63 5

: B
72 %

4. 85"
85 25

Options:
1. %1
o ® oo
3.3



4 # 4

Question Number : 44 Question Id : 1889601244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which Country signed the Framework Agreement of the International Solar
Alliance with India?
2GS TBI0S Q0T AN D @OHANS ) WNE) (e 07 AD0EN)
) B30 DOBE0 TOOH?

1. Sweden
LS
2. German
23320
3. Poland
Serod
4. Argentina
20003
Options:
1. %1
o ® D
3 %z
4. 9 4

Question Number : 45 Question Id : 1889601245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which Global cyber security company launched Email Fraud Protection, an
automated solution, to block fraudulent emails from reaching enterprises?
D T2 2020 87503 E0D ©F) SEIIFOHRS HDODS HOG ST B-
FOONF D ATE0TNEE Z-DOND 76 (FTIES, 2.8 S G
PTEAM D [arS0D0V0H.
1. Symantec

PO TIS
2. Raytheon
BT
3. IBM security
IBM 23| C5¢%
4. Herjavec group
2035 N0
Options:
1.v¥1

o oo



3 ¥ 3
4 % 4

Question Number : 46 Question Id : 1889601246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
Emergency Response Support System (ERSS) is a pan-India single number
based response system for persons especially women in distress.

DeNDRY BFIS) DY D0 (R.835.90.090.) OO (DB 2@y
&) |NOH SFS-R0ACET DOAS Hod 3OS HY0D DD
(S D0,

1. 1027

2. 312

3.114

4,101

Options:
1. %1
2 VD
3 %3
4 % 4
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————— is designated as women’s training Ambassador of PUMA
PUMA G308 a0arFe) 38 £2 O° 00O QOO TIDTTED
1. Mary Kom
00 T
2. Anil Kapoor
QO D
3. Suresh Sharma
Q00 485
4. Vikram Singh
2| 8o VOH

Options:
1.9 1

o oo
3 ® 3
4 % 4
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Which state government has announced a universal old age pension
scheme - Mukhyamantri Vridhajan Pension Yojna (MVPY)?

o) T3 (23065 50 3 CDEED ADPEN0(E3 DD DR B3T3 (MVPY) DT
1083000 &?

3,

4,

Options:

1. % 1
o %D
3 %3
4 v 4

Tamil Nadu
5T 0 A
Maharastra
S0 07 o
Bihar
AIS
Punjab
DO

Question Number : 49 Question Id : 1889601249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

The Central Board of Indirect Taxes and Customs (CBIC) appointed

and Ashok Kumar Pandey as its members
CBIC 6505 DZNLENT  BODID T @35 5055520 0B D00

1.

2

Options:

1.v1
o ® oo
3 %3
4 % 4

Sandeep Mohan Bhatnagar
DO T 23°¢5) (10
Suresh kumar

DT 050

. Nitish Kumar

D3N 030

. Kappor Singh

gor )0 voh
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Correct Marks: 1 WrongMarks: 0



Rabindranath Tagore Award for Cultural Harmony is awarded by the------
P00 YBE NGNS 80 B0 T°HID BT)S DSOS
DPE?
1. Prime Minister
(DTS 0|3
2. Home Minister
0U°0 DO €3
3. President
€9 550CH
4. Finance Minister
0% 0|3
Options:
1. %1
2 ® 3
3. v 3
4 # 4
Gl 4 oo, o o g MOl Sfing: o Ol Quton i e
Correct Marks: 1 WrongMarks: 0
---- NGO Yuwa won Laureus Sports for Good Honour
D TR0 QD G5 52238 NGO e»dOHD )0 DO Good Honour
D FENTDEOO ?
1. Jharkhand
20085
2. TamilNadu
3. Kerala
3OY
4. Karnataka
SUreas
Options:
1. v 1
2 %z
3 % 3
4 % 4
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Became the First woman to climb Kerala's Agasthyarkoodam peak.
B e9110557,¢50 FD S0 9T O BNCIES sDETF eI, ?

1. Sudha Chandra
QDG IO

2. B.K. SriVidhya
B.K. 3CH

3. Dhanya Sanal
538 DO

4. Junko Tabej
208" &3S

Options:
1. %1
o ® oo
3.3
4 % 4
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West Indies batsman Chris Gayle announced retirement from ODI cricket
after ICC World Cup 2019. He made his debut against in 1999.
ICC 1DND0TI D 2019 HT° ¢ B QORR 23758 120 180 11O 0DI (§5ED o0&
BTID0ET (D30T, A5 & ¢5d TEITNCIES 337575 3 1999 ¢S &s 35O &
e3C3°CR

1. India
Aol I 10
2. Australia
e QOGS
3. South Africa
58 e 5"
4. NewZealand
Qr§22eroR
Options:
1.91
o %2
3 % 3
4 % 4
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According to the government survey, around crore Indians in the age
group of 10-75 are consumers of alcohol.
925065 ¢ OB £ DGO, 10-75 DFY SO’ §%¢3 500 erSedainen N30
IO DATBrATD.
1.22
2.18
3.20
4.16
Options:
1. %1
2 %z
3 % 3
4 ¥ 4

Question Number : 55 Question Id : 1889601255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
Argentine President, who was on a three-day visit to India from February

17 to 19 February 2019.
&) e9B0e3T° ¢ sBC, D2IID 17 S0 19 DO HSH 2GS eHTFOE
¢80 B2 HEEISS e ) 5.2
1. SebastianPifiera
V2O D) O°
2. Mauricio Macri
SNBAT B(8
3. Jair Bolsonaro
20 SN
4. ProkopisPavlopoulos
TR T R
Options:
1. %1
o D
3 %3
4 % 4
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Who won the 2019 Australian Open Men'’s Singles final?
2019 €3 ROONHA 2D DA DOAD ) DI DD TenTHEHR") 5?
1. Roger Federer
230 DGO
2. Rafael Nadal
O O 0°GO
3. Novak Djokovic
S8 DS
4. Andy Murray
e30Ed S| B

Options:
1. %1
2 %
3. v 3
4 % 4
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Reserve Bank of India recently approved additional interim dividend

payment of Rs. crores to the government.
102DE L8 B ........ 5 @33 e O ANTBOE TOHOD O35 ¢
23508 9¢3:5¢3 SSTrOODNO

1.26,000

2.22,000

3.28,000

4.24,000

Options:
1. % 1
o %D
3. v 3
4 # 4
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———————— awards are conferred on Uday Deshpande and Smriti Mandhana?
&S00 DBF°YOT aDOAW (D23 SDORD 2 S8 e (HTPS0
DONDTON?
1. Shiv Chhatrapati awards
2o T €5De3 )G TPeN)
2. UNESCO Peace Prize
OB, B20ed DTV
3. Pulitzer Prize
NOLD (D
4. Livelihood Award
SVE 95D
Options:
1.v¥1
o ® 2
3z %3
4 % 4
Question Number : 59 Question Id : 1889601259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Who clinched the Senior National Badminton Championship for the fourth
time?
TS PO DAGAND BADD 2°5R0EI® TFODANA AR A DD DO
DB D?
1. Saina Nehwal
0° D O
2. PV Sindhu
D 0) VO
3. Jwala Gutta
e seyriher
4. Ashwini Ponnappa
€99 £Q) S D)
Options:
1.v¥1
o %2
3z %3
4 % 4
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Which country recently rejected an appeal by US Vice President Mike Pence
to withdraw from the 2015 Iran nuclear deal?

QO 9D 25D )00 NOD GODOTOOTNE TR LIROS P | DVTBOED
08 D) TOS DB ¢35 BEHLO0DS TFO DE?

1. Russia
Ok §
2. Germany
230520
3. France
EUN
4. China
Do°
Options:
1. %1
el
3 ® 3
4 % 4
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Which of the following is not required of a candidate for the post of
President ofIndia?
2 GHTH (DVTOE DADE 925508 O 295050 BEn?
1. A citizen of India
AROILINL ELO V&N
2. Should be of 35 years of age or above
35 006365 )TN B° WOSHE0T) DFYd SO, B0 )
3. Should be qualified to become a member of the LokSabha
&5 E32565 DDA G0CHeErdE e9deh od)
4. Should have a minimum of Bachelors degree or equivalent

EAD 25200 BN B DTEIDS &0EEe)

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 62 Question Id : 1889601262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Indian Parliament is based on the principle of

223568 PTT0EN S8 (50 oD SHENG SOO

1. Bicameralism
0 8023 D0

2. Universal adult franchise
OIS IO SBT3 ([0S

3. Dyarchy
35005 § (02065 €O

4. Federalism

DB 230

Options:
1.91

o oo
o ® 3
4 % 4
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When the master is held liable for the wrongful act of his servant, the
liability is called
OR2BATA) 55 VIV TINEY 55950 25°¢5565 30 I, €3
25 565 oD 90EFED?
1. Strict liability

AR 23 5ed
2. Vicarious liability
(DT$57°) T 23°C) §¢
3. Tortious liability
eSO ODP 23°¢) seb
4. Absolute liability
DOY"Q e3¢5
Options:
1. %1
2 2
3 %3
4 % 4

Question Number : 64 Question Id : 1889601264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The act of unlawfully entering into another person’sproperty
S0TE 5358 €32 €5 LI DOMT (DDFOT IS¢

1. Trespass

3150
2. Restraint
QOO
3. Appropriation
STEVATEMGIVAEY
4. Encroachment
315069
Options:
1.v1
2 ® D
3 % 3
4 % 4
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Correct Marks: 1 WrongMarks: 0

What is the meaning of “Caveat Emptor”?

"BRONE DOTD " (Caveat Emptor) BBnE) @900 DeE3?
1. Awarning

08
2. Buyer Beware

SV oV ae M Fsalels
3. Writ

BE
4. Seller Beware
D Sed 237 1¢b

Options:

1. %1

2 ¥z

3 %3

4 # 4
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Correct Marks: 1 Wrong Marks: O

Fiduciary relationship means a relationship based on

D% LOQON D000 WO 28 HODOG), APDINO
1. Trust

Qe 80
2. Money
Ca2N)
3. Contract
2,0 )00
4. Blood relation
38 Ho080

Options:
1.v1
o %D
3 %z
4 % 4
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Correct Marks: 1 WrongMarks: 0
Generally, when a person is prosecuted for criminal offence the burden
of proof is on the
B0, 208 6358 (8DIO VTR 3 YD) ICR 236y W 2330
NSO B DO

1. Accused
JB0 STDODS BN
2.Prosecution
(PRQBTEAR aES
3.Police

SFO 0 S

4.Complainant
DO"ECEN TS 70 a1

Options:
1. % 1
e e
3 %3
4 % 4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Participant in commission of crime is popularly known as

T30 DSOS TSR 38 & DO DN
1.Respondent

@d¢he> §8 37
2.Under trial
DTG DN 0ENN) KD
3.Defendant
(D3O
4.Accomplice
SCE O
Options:
1. % 1
2 %2
3 %3

4 ¥ 4
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Correct Marks: 1 WrongMarks: 0
Where is the National Judicial Academy located
BASD 22 BACNO 9S°TBaY 8 Ch OO?
1.Kolkatta
SoHger
2.Bhopal
SO
3.Delhi
&S
4. Mumbai
N 023

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 70 Question Id : 1889601270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is not included in the preamble of
the Constitution?

0723000 T3NEY DB 806 5°36S” DO DS NGBS EN?
1. Morality

De3¥es
2. Justice
O°§ON0
3. Sovereigr
PO §2Y oD
4. Socialist
%) §63°C
Options:
1.v1

o ® oo



3 ¥ 3
4 % 4

Question Number : 71 Question Id : 1889601271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

When goods are displayed in a shop with a price tag, itis
2,5 CDSEIOS 2,8 3306 TINEY GG HEES (590 10DNINIE, €8 65:0 )

1. An offer
80

2. An invitation to offer
2,8 @30 S0 e8558550

3. A counter offer

SO0 &80
4. None of these
3T D) 5°5)
Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 72 Question Id : 1889601272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘Volenti non fit injuria’ refers to:
'S B0E3 %R DED R0BOO (Volenti non fit injuria) DO SrDOE:

1. A defence in an action for torts
DAS ST S 2.8 B8

2. A ground for initiation of action for torts
VDO HDIP HHHEL 2,8 G0

3. Not a defence in an action for torts
VRO ST GO 2,8 B8 N
4. Both (1) and (3)
DO (1) DOAM (3)

Options:
1.v1
o %D
3 %3
4 % 4



Question Number : 73 Question Id : 1889601273 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Development of law of torts has taken place through

50 D0 DIHE B °so° 20000

1.Custom
ZInele

2.Judicial Decisions
P00 AYAITEN

3.Enactments
TR

4.All the Above
D Q)

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 74 Question Id : 1889601274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is a part of Indian Constitution?
De3ES” DE S eh TrezroNoeS @0 23i0?
1.Single citizenship
Q0RO BSOS 50
2.Multiple citizenship
2VF D*OQES SO
3.Dual citizenship
¢S L0 ¢ B CO
4.Domicile citizenship for State and natural citizenship for union
Domicile 3806350 T°|al8 SOOI DaTe3 PO 0 DF°VE
Options:
1.v¥1
2 ® 2
3 ® 3
4 % 4
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Principle: Willful rash driving is an offense. Facts: Mr. Tiwari was driving
his car after drinking alcohol. Police books him for willful negligent
driving. Is the act of the police lawful?

Q0CS: SIS SEOM BHOTP %S0 SEENE0 JHEO0. PNIEN: Mr.
B0 D50 BXNVED €5 T SN C). Gy (EOmP
DBE 59 BAOH @ O a3 TN HFTCD TP, FOR o0 58
(O WESINV T TN e

1.No, because Mr. Tiwari was not driving rashly; he was drunk
while driving.
. DODEOT DND SO TH0 SR NN (&°h
B, 5% SHOTP TS0 ST,

2.No, this is not a negligent act.
52, A8 QOS50 5°¢%.

3.Yes, because Mr. Tiwari was driving rashly.
€959, SDND B3O JHOM 50 S,

4 Yes, because the police has the power to arrest a person
driving rashly.

2959, DT, AIBOCDTT TeFN0 AEVS 9D T OSSO
SED L OO

Options:

1.v1

o %D

3. ¥ 3

4 % 4

Question Number : 76 Question Id : 1889601276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Principle: Mere silence as to the facts likely to affect the willingness of a
person to enter into a contract is not a fraud, unless the circumstances of
the case are such that, on close examination it is found to be the duty of
the person keeping silent to speak, or unless his silence is, in itself,
equivalent to speech.

Facts: X sells by auction to Y, a horse which X knows to be ofunsound
state of mind. X says nothing to Y about the horse’s unsound state of
mind. Give the correct answer-

DFTF0SM : 2,8 JF DOV |N5S0 2,8 6358 § STV 23°¢H5ed
€rd) B @G DF D0 & 2.8 3P 1§ DONBOLI SOV YN B
NS ,8 6558 BEY V¥ D0 BTE 558 W0E) DY), 127050
D @ 35%00 (8ol Trdd.

JPRTeN: X § 2,8 (HS0 DDIGA BN Ercr &8 JB0 TOIP0E 2,8
300 Y § @558 (806 ¢3S DB DeSPEPS0 @550
1.X can be held liable for fraud

X B8 23763565 65000 T°E) ) €50EN0E

2.X can be held liable for misrepresentation
X €65 1570 HEI0DS0CHZY 23°¢) 568 30 ) ) GOENOD

3.X cannot be held liable, because he did not say anything positive
about the mental state of the horse
X 2°23¢38 T OIS 57283 29¢58 ENI0E3 23°¢H5¢8 S,

4.X cannot be held liable because it is the buyer who must be aware of the
things
O ENETE PRI BEVVTR) §rd) 5723¢3, X § EN0e3 23°¢ised SD.

Options:
1. %1
o R
3. v 3
4. # 4
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Principle: Only Parliament or State Legislatures have the authority to enact
laws on their own. No law made by the State can take away a person’s
fundamental right.

Facts: Parliament enacted a law, which according to a group of lawyers i1s
violating the fundamental rights of traders. A group of lawyers file a writ
petition challenging the Constitutional validity of the statute seeking relief
to quash 1t and further direct Parliament to enact a new law.
Ar(50: 5500 0D B 07 B SNBGHINTD O %
ST W0 D OSSO G0O. o VOO0 TOIN)EIE, 58 TwE)
EFCNE SP80) ) S0HE.
TPRTTN: rINOLN 28 P TR0 R SOBNHOE TECHICDO
D530 @O SOFS (PGPS FPERey oo EOAMN0H. & Hd%ve
DT 28 B8  DBIAQ o0 &8 DO WBEY TR QA
1D, A FETATOD HOAN TN §% HL0 TATFO
SDFOON (rOoT .
1. No writ would lie against Parliament, as the court has no authority to
direct Parliament to enact or re-enact a law
D°SADTTOE OE O SO° PTDOENE 28 HEFQ) BATO B
SOR DATO) STIOD @OOTBE0 BN %, O DE3 AS TOYD.
2. The courtcan quash existing law if it violates fundamental rights

and can direct Parliament to make a new law

[EPGaDE sE0) 0 GO0 DIL0NS, S 2N )ESB &) TIETR),

SCYD DONSITD,) SNBSS §¢5 50 DA O R0EN STF0TH

T )

3. The court can quash the existing law if it violates fundamental

rights but cannot direct Parliament to make a new law

EPADE SFPHLEO GOMODIEL0NS, 5 2D )E3T ) wHer)

BCY TONSTN)) 5% 5 380 TOITFOQ TD0EN D 8T IO

@R AN
4. None of the above
0 DS ID 5D
Options:
1. %1
o %D
=¥z
4 % 4
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Which of the following Constitutions is unitary?
8O T°23"0K0 D& D8EYBDOH?

1. US
9O HOASWE T°lalen
2. Britain
EALAIN
3. India
ARG INL 10
4. Australia
3| VOO
Options:
1. %1
2 WD
3 %3
4 % 4
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Ratio decidendi means

D3 BOTBOG (Ratio decidendi) 90
1.a judicial decision
°50% APAHO
2.part of the judgment which possesses authority
O30 O €55) DI 230
3.any observation made by the court which goes beyond the
requirement of the case
S TDAD a5 S, DO B ABNEY 2950T°AE WODIIE
4.an observation made by a judge
P00 DR DS

Options:
1. %1
e g
3 %3
4 % 4
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Which of the following is not true about a criminal proceeding?

8053 1BSS (FOGOR HOO0D) DO D230 5°¢0?

1.the court may ask to pay a fine
D°SONTRI0 B0 T OTISNA) €EHIITN )
2.the court may order transfer of their ownership of the property
O OSBRSS0 S een OO TOFOR §D e80TS0
3.there is prosecution
LI RETEAQ OO
4.the court may discharge an accused
T°SONT"0 3TN © DOG D3 TOHSTD)

Options:
1. %1
e g
3 % 3
4. # 4
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Correct Marks: 1 WrongMarks: 0
In a case between Divya v. Derifa, Divya cannot be a

2,8 3x0eS Divya vs Derifa s0¢3s 208 QoS30 8555 D 5260

1. Plaintiff
D
2. Appellant
I NI
3. Defendant
(3
4. Petitioner
DEIASD
Options:
1. %1
o ® D
3¢z
4 % 4
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Cr.P.C. stands for
Cr.P.C. @)
1.Criminal Proceedings Code

B |P0&0N) 56
2.Criminal Proceedings Court
BOID |G 8§

3.Crime Prevention Code

DS ABVNE TG

4.Criminal Procedure Code

BID |F02d 56

Options:
1. %1
o %oz
3 %3
4. v 4
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Jurimetrics is

27°0530(¢38 ) (Jurimetrics) @0T)

1.the use of logic and statistics in the law
250 65 €6¢5).0 sNOAN HeT 05 FHEO

2.the study of ancient history
o) T8 LHO|€d 9 SO0

3.the investigation of criminal cases
1BDIO B0 DT BEd

4 .the analysis of legislative proceedings
F°0 DT Ged BBV, DFNED

Options:
1.9 1

o oo
3 ® 3
4 % 4
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A puisne judge of a Highcourt is
3 §% TodS puisne judge eoy

1.a judge other than the Chief justice
(DGR °5O5600°0 5PEVOCE 2,8 {05000
2.the Chief justice
EAARXNEN{OWNE
3.A temporary judge
&) O D500
4.a retired judge
28 D(F°0 €& T°§ONO

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 85 Question Id : 1889601285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0
Moots, in law schools, are
0D TS Ssdarmr SCen
1.exercises of law teaching
0D T s0F O 230
2. legal problems in the form of imaginary cases, argued by two
opposing students before a bench pretending to be a real court
€230°¢528 T°5A0 Qs AR QoI FENTT 27000 2,8 Q230
S SN0CH TPOND) LD OO0
3.imaginary class room where a student acts as a teacher
DD ST sOSNAT 55He3 HASS ERaTrOTNER THIEO
4.a debate on a legal problem
OB DAL )
Options:
1. %1
i 4
3 %3
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Correct Marks: 1 Wrong Marks: O

Scheduled Tribe status is
2068 O | 2D (Scheduled Tribe) T30 c

1.restricted to Hindus
P OCNNE DONEBHO
2.religiously neutral
INVEPA O PNV INEETALY
3.restricted to Hindus and Christians
2”0 CDYHEN DDA | TRHEEL HONEBO
4.restricted to Hindus and Muslims

0N HEN DO SNVVOEZL HONESO

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 87 Question Id : 1889601287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following has not been a woman judge of the supreme

court of India, till 20097
200055 D035 )50 BB S5BEZY D0 FDE sDTF™ OO
DI BK?
1. Justice Gyan Sudha Mishra
230 &R G V| F®
2. Justice Sujata Manohar
2200 Q02376 s0S 0
3. Justice RumaPal
230 DO
4. Justice Fathima Beevi
2V aTAT D

Options:



1.1
o %o
3 %3
4 % 4

Question Number : 88 Question Id : 1889601288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the meaning of Perjury?
DDO 90T @930 DaWE3?

1.A kind of forgery
2.8 BES GO
2.Lying on oath
29220 [3o°EA O
3.Ajury
23750
4.A court
2

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 89 Question Id : 1889601289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The President of India is elected by an electoral college consisting of

23S0 T 3383 (808 57X EOAS 2.8 ' ISTES 528 T°50° ) Foacbesny?

1. all the members of both the Houses of Parliament and all the
members of all the Legislative Assemblies
@90S%) POR0EN O 2050 DBAW @) BddDIe
NTAVI(Slelanloby

2. all the elective members of both the Houses of Parliament and all
the members of all the Legislative Assemblies
OO &30 D D) B
NBAW @) TP D20 5O E®

3. all the members of both the Houses of Parliament and all the elected
members of all the LegislativeAssemblies
FPOR0LN &2IAD D25 H2Z0EORET DO &) BPOIIZI
BNE) DT DAL HEHgHORS®

4. all the elected members of both the Houses of Parliament and all

the elected members of all the legislative assemblies
FPOR0EN 23N BN TSNS BOROES AW0E) D) FaBS
NFAVI(D W TeTa o v

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 90 Question Id : 1889601290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
International labour Organization has its headquarters at

'POET) ANO B0 SIITBAR' (DTN SPO°LOAN0  E)CE GOO?
1.The Hague
&S o0
2.Geneva
B
3.NewYork
QOO
4.London
OO

Options:



1. %1
o vz
3 %3
4 % 4

Question Number : 91 Question Id : 1889601291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is not the function of the International Court of

Justice? It

806 ¢3S DE OST O DPFONTSO TBVEY D) 50?2

1. gives advisory opinion at the request of General Assembly
2380 @02 BNE) 255552 DO @D EPAN0 RN

2. gives advisory opinion at the request of Security Council
08575063 57O 92553530 DO @)oo QN0

3.interprets treaties when considering legal disputes brought before
it by nations
T30 Ted 3 0ETAN HENGTS DO HOHeadS 8
SENEY D)) 2550 YOO BOID® BNOE

4.decides international crimes
©0ST'BAH TP DGOV

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 92 Question Id : 1889601292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following is not included within the meaning of
intellectual property?

&3 1806 73S HE HODE TE) ©9F0S BA TS )BT
1.Patents
O
2.Copyrights
SEPOUIN PRI
3.Trade Mark
RE 330

4. Contracts
SYOTIARSH

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 93 Question Id : 1889601293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Joseph Shine v.Union of India decided recently, the Supreme Court

decriminalized the offence of
S0 R v ODTIOHS €89 Q0BT TS @eE35e |0 O Ss
ROVE L. BAQ T)OA.
1.Bigamy
DOCID )0
2.Adultery
Do €453 D200
3.Rape of wife
2°0 8§ Q 2¢re) 80 A0
4.Sexual Harassment
SohE OO0

Options:
1. %1
e g
3 % 3
4 # 4



Question Number : 94 Question Id : 1889601294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which Parliamentary Committee is described as a “Watch-dog’ and
guardian of the people against official negligence ofcorruption?
) IS EE3 9DV, 9HTOE AT 0 H5BTEOTP (HBE "a° -
c3*N" SOOI OGBS Focd ° SDO0TIDB0E?
1.Committee on Estimates
e90HTd Enes
2.Public Accounts Committee
DT 9F°0E ) Ee3
3.Committee on Public Undertaking
DT 2355 EeES
4.Committee on ‘Consolidated fund of India’

23550 BNEY e IOTBE HoB' 2 Ees

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 95 Question Id : 1889601295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Result of successful prosecution is
23009050 criminal derded HESHD
1.Acquittal
DT AT DS
2.Discharge
B0 S0H DS
3.Conviction
QETDED
4. charge sheeting
Charge a0 T3a50E)

Options:
1. % 1
o %D
3. ¥ 3



4 # 4

Question Number : 96 Question Id : 1889601296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who among the following was the first Chief Information
Commissioner of India?
2° 35734 5) 0CHEI 0D § DS EQAINID DeI5?

1. Wajahat Habibullah

PR3 ST 2N E
2.Irfan Habib
Q0SS
3. Tahir Mahmood

€550°0 oD °E
4.Najma Heptullah
523 TR’
Options:
1.v1
2 ® 2
3. ® 3
4 % 4

Question Number : 97 Question Id : 1889601297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Within the jurisdiction of which High Court does Lakshadweep fall?
2 3SD 95523 HOOS L AL SVOE?
1. Bombay High Court
&S°02r00 80
2. Kerala High Court
SEF PN
3. Madras High Court
DR S
4. Delhi High Court
GO T

Options:
1. %1
2 D



3 ¥ 3
4 % 4

Question Number : 98 Question Id : 1889601298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What Is an ECO- MARK?
B0} SO Jo1ES?
1. A scheme for labeling Environment Friendly Consumer Product
DO*EIGED DO E83)¢a0D (8785 Send §%90 2.8 HHEo
2. A Scheme for labeling pollution free industrial Unit
SPENN S Goed POFNE 0TI B2 d §00 2.8 HGHEOo
3. A Cost-effective Production Technique
2,8 DOTS e5¢d)ed THEY§
4. An International Certification recognizing, Eco Friendly building
2,8 ©07°305 DODBAS HOOTIC0, DT35 DO 2563850

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 99 Question Id : 1889601299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Rape involves an offence which is against:

22e7°E). 50 90 O (H2TDH0 T DGO:
1. Property
€3
2. Human body
NARNINE-Tole]0
3. Political body
o380 HOD

4. Social body
P22 QO
Options:
1. %1
2.2

T %3



4 # 4

Question Number : 100 Question Id : 1889601300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

India became the member of United Nations in the Year
23°05¢5 T30 OINTTIE WE ) & 23565 cO FOOS D035 Y50
1. 1945

2. 1946
3. 1950
4. 1956

Options:

1.1

o %D

3. % 3

4 % 4

Question Number : 101 Question Id : 1889601301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A child born after 281 days from father’s death is presumed to be
0D NGO BB e 281 T2 §O 2300 2 S8 DESOMT
2’00V
1. lllegitimate
291853 D0D0GE HEIS 2
2. Legitimate
HEDIING 2
3. Intestate
DN (IPONZVOTE $)E3 &I
4. Testate
DENIEY DBFTIS0 TR 2)C

Options:
1.1
o %o
3 %3
4 % 4

Question Number : 102 Question Id : 1889601302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which is the oldest Code of Law in India?

2 5STF0S €965 0eH )TPHIND IO DE?
1.Narada smriti

°GCS O3
2.Manu smriti
a0 Hg)ed
3.Veda smriti
AR ORE
4.Prasar smriti
DTFE €3
Options:
1. %1
2. &2
3 ¥ 3
4 % 4

Question Number : 103 Question Id ;: 1889601303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who is Judgment Debtor?
20NN QAN oI €90EFN?
1.A person against whom a decree is passed
55T BB 20 TOHVAS 558
2.A person in favour of whom a decree is passed
208 3358 A § FOOD 9558 @NHETFOOM
3.A person who takes loan from a lawyer
DEEONTE OB 2NEI0 DY 5358
4.A Bank which gives loans
KOETEND [ ) 2050

Options:
1.91
o R
3 % 3
4. # 4

Question Number : 104 Question Id : 1889601304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Examination of a party to a case by his own advocate is called
5 POd D°EANIE T SO° 208 TNS 7O HBE 0v @)
DoDOEFH?

1.Cross Examination

(5°Q DT A
2.Chief Examination
{f)'ﬁa @g&bﬁa&ﬁ
3.Re-Examination
$)520OBS
4.Interrogation
QO NAR
Options:
1. %1
o o
3 %3
4 % 4

Question Number : 105 Question Id : 1889601305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Goods and Services Tax (GST) was introduced in India by which
amendment to the Constitution?

55°6) @908 DOV €38 ) (22 DD €3) 2SBHF0S 07230505 o
D38 T° ST° (Dd DELDROA.

1.101

2.102

3.103

4. 105

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 106 Question Id ;: 1889601306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who is the present Chairman of the Law Commission of India?
2565054 P50 SR CBNEY (D80S B DeID?
1.Justice Balbir Singh Chauhan
20 208 N TS
2.Justice A.P.Shah
200 0).0).oF
3.JusticeA.R.Lakshmanan
20V 0).830 .5
4.Justice B.P.Jeevan Reddy
2300 B.P. 225 DG

Options:
1.v1
o ® oo
3 %3
4 % 4

Question Number : 107 Question Id : 1889601307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
At present how many female judges are in the Supreme Court?

(B0 DO ST F® T ORNTEEN DO DS &) H?
1.7
2.4
3:D
4.2

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 108 Question Id : 1889601308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who was the first female judge of the Supreme Court?
KN[0S TEHEI S0FF® D° 0000 DIK0?
1.Justice Bhanumathi
2300 2D ed
2.Justice Fathimabeevi
2D TAE® DD
3.Justice Indira Banerjee
209, OOT® 230
4. Justice Leilaseth
2. Oer VO
Options:
1. %1
2 2
3 %3
4 % 4

Question Number : 109 Question Id : 1889601309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which one of the following is an ‘actionable’wrong?
1808 a°¢365° TR DAAHOS” TPLONDBDD I8 NS T )?
1.Injuria sine damnum
SO BROO 55 230050 DAY
2.Damnum sine injuria
8180 230050 S°HD) RO SRR
3.Both of the above

&e DOCAY
4.None of the above
2 257 €8 5°¢H
Options:
1.v1
2 ® D
3 % 3
4 % 4

Question Number : 110 Question Id : 1889601310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Administrative Law deals with:
DO IEFTen 180 °¢38 H020AODI:
1.Procedures to be followed by the administrative authorities
in the exercise of their powers and functions.
DOOS @HZEED 962 T TN DDA DD
QS $00TEINE eS0TIV DGPTEN
2.Remedies available to a person in case of violation of his rights by
the administrativeauthorities.
HOTOR® OOSNOT 53 FEL N OO NOEIOS
55588 @902 ENES 5, DORLLT .
3. Methods of control of powers of the administrative authorities.
DOTOT OO OHTTE QOO 58D DOEHEN.
4. All of the above
DOV
Options:
1. %1
o %2
3 % 3
4 ¥ 4

Question Number : 111 Question Id : 1889601311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which of the following doctrines deals with Centre-State
legislative relations?
&3 1808 DT0EeS B0 O°1R DOD0GTOE) HOZE0DS & E?
1. Doctrine of Eclipse
D8R D050
2. Doctrine of Pith and Substance
2 0O HTQ0 WBWE) DT0ES0
3. Doctrine of Pleasure
e300 A3NE), VT°0B0
4. Doctrine of Basic Structure
(LG8 QO°2E00 L°0S0

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 112 Question Id : 1889601312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Where is the unwritten Constitution in force?

9 ed 07237500 @sENES NE)CS OO

1.Japan
ATORN

2.Srilanka
f@@@g
3.England
QOMO5
4 .USA
O30, ). o).

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 113 Question 1d : 1889601313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Name the first Attorney General of India?
200565 BNEIRNCIES 9E70) 253D DK DadE3?
1. M. C. Setalvad
0., W e ed
2. Chander Kishan Daphtary
250650 8AR Sord
3. Niren De
Q0 B
4. K.K.Venugopal
K.K. D0 aro

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 114 Question Id : 1889601314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Who was the first Chief Justice of Free India?
R §50(€5 2GS RNCIES (DT P00 eI D?
1.Justice HarilLal Kania
2200 30erd EQASy
2.Justice Shelat
2200 0
3.Justice Muthuswamy lyer
230 SWED LD 90O
4.Justice Fazal Al
20 DRSO @)

Options:
1.9 1

> w2
3 ® 3
4. # 4

Question Number : 115 Question Id : 1889601315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who was the first Law Minister of India?

255003 BNEIDNEIES TPEONT°D sDO(€3 DI?
1.Dr.Ambedkar
Dr. @023¢5),.6
2.Alladi Krishna swamy
9T Ep)odad® Sodd
3.A.K.Sen
AK O
4.K.M.Munshi
K.M. S0

Options:
1.v1

o ® oo
T %3
4 % 4



Question Number : 116 Question Id : 1889601316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If there is a dispute about the election of President in India, to
whom will it be referred?

23 3S5DI0S | DVBOE DALE DerrE MHB 0N, P
DI HONLOVS ?

1.Attorney General of India
9erD) BIBO 8 YOS
2.Parliament
OO
3.Supreme Court
N[0 8O
4.Chairman of UPSC
UPSC D320

Options:

1. %1

2 %z

3.¢¥ 3

4 % 4

Question Number : 117 Question Id : 1889601317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

For how many years a person has to be a High Court judge to
become a Supreme Court Judge?
N[O T 00O OB IST° IO D),
D0¢5YT°ENT 375X TS0 o E)?

1.03

2. 05

o i

4. 01

Options:
1. %1
e g
3 % 3
4. # 4



Question Number : 118 Question Id ;: 1889601318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Who was the prime accused in the Rajiv Gandhi assassinationcase?
028 TPOE &°¢h8 TN (D57 QOO aI5H?
1. V.Prabhakaran

2. (D2rEE

2. Nalini
NEUS
3. Sivarasan
BT
4. Dhanu
D
Options:
1.91
2 %
3 % 3
4 # 4

Question Number : 119 Question Id : 1889601319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A jurist can become
2,8 TeONTDCDED (80D DAY &0 )
1. Supreme Court Judge
N[0 & °505a300°0
2. High Court judge
2 §Q Tr5anHsr0
3. Auditor General of India
33D 2380 &35 Q0RO
4. District Judge
2205° L OO

Options:
1.91
o R
3 % 3
4. # 4

Question Number : 120 Question Id : 1889601320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Where can a High Court Judge practise after retirement?
DD DB ST £e5 2D BB &Y. 5TER TOD ot )?
1. In any other High Court
2653 280
2. In the Supreme Court
(DO §DHeS
3. Neither(1) nor(2)
DORES I (1) T (2) €5 1 TOHETCED
4. Both(1)and(2)

(1)s500050 (2) BDOG0E3 S5 DO

Options:
1. %1
2 %
3 %3
4 ¥ 4



